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1. A and B do a work in exactly 16 days, B and C
do the same work in exactly 12 days while C
and A do the same work in about 10 days. If A,
B and C can together do the work in integral
number of days, then C does the work alone in.

A vkSj B fdlh dke dks Bhd 16 fnuksa esa djrs gSa] B

vkSj C mlh dke dks Bhd 12 fnuksa esa djrs gSa tcfd C

vkSj A mlh dke dks yxHkx 10 fnuksa esa djrs gSaA ;fn A]
B vkSj C ,d lkFk dk;Z dks iw.kZ fnuksa esa dj ldrs gSa] rks
C vdsys ml dk;Z dks fdrus fnuksa esa djrk gSA

(a) 15 days (b) 16 days

(c) 18 days (d) 20 days

2. Two persons A and B can do a work alone in
29 days. A takes the rest of one day after every
4 days and B takes the rest of one day after
every 5 days. If A and B starts working
together, then the work will be completed on.

nks O;fDr A vkSj B vdsys fdlh dk;Z dks 29 fnuksa esa dj
ldrs gSaA A çR;sd 4 fnuksa ds ckn ,d fnu dk vkjke
ysrk gS vkSj B çR;sd 5 fnuksa ds ckn ,d fnu dk vkjke
ysrk gSA ;fn A vkSj B ,d lkFk dke djuk 'kq: djrs gSa]
rks dke iwjk gks tk,xkA

(a) 15th day (b) 16th day

(c) 17th day (d) 18th day

3. 12 men and 16 boys can do a piece of work in
5 days and 13 men and 24 boys can do it in 4
days. Compare the daily work done by a man
with that done by a boy.

12 iq#"k vkSj 16 yM+ds ,d dke dks 5 fnuksa esa dj ldrs
gSa vkSj 13 iq#"k vkSj 24 yM+ds bls 4 fnuksa esa dj ldrs
gSaA ,d vkneh }kjk fd, x, nSfud dk;Z dh rqyuk ,d
yM+ds }kjk fd, x, nSfud dk;Z ls djsaA

(a) 3 : 2 (b) 2 : 1

(c) 4 : 7 (d) 3 : 1

4. If 5 men and 3 boys can reap 23 hectares in 4
days and if 3 men and 2 boys can reap 7
hectares in 2 days, then how many boys must
assist 7 men in order that they may reap 45
hectares in 6 days?

;fn 5 iq#"k vkSj 3 yM+ds 4 fnuksa esa 23 gsDVs;j iQly
dkV ldrs gSa vkSj ;fn 3 iq#"k vkSj 2 yM+ds 2 fnuksa esa 7
gsDVs;j iQly dkV ldrs gSa] rks fdrus yM+dksa dks 7 iq#"kksa
dh lgk;rk djuh pkfg, rkfd os 6 fnuksa esa 45 gsDVs;j
iQly dkV ldsa\

(a) 1 (b) 2

(c) 3 (d) 4

5. X can do a job in 10 days, Y in 15 days and Z
in 18 days. Y and Z begin the work but have
to leave after 3 days. How many days will X
take to finish the job?

X fdlh dke dks 10 fnuksa esa] Y 15 fnuksa esa vkSj Z 18
fnuksa esa dj ldrk gSA Y vkSj Z dke 'kq: djrs gSa ysfdu
mUgsa 3 fnu ckn NksM+uk iM+rk gSA dk;Z dks iwjk djus esa X
dks fdrus fnu yxsaxs\

(a)
57

days
9

(b)
57

days
11

(c)
53

days
12

(d) 6.5 days

6. To do a certain piece of work, B would take
three times as long as A and C together and C
twice as long as A and B together. The three
men working together can complete the work
in 10 days. How long would B take by himself
to complete the same piece of work?

,d fuf'pr dk;Z dks djus ds fy, B] A vkSj C }kjk
fy, x, le; ls rhu xquk le; ysxk gS vkSj C] A vkSj B
}kjk fy, x, le; dk nksxquk le; ysrkA rhu iq#"k ,d
lkFk dk;Z djrs gq, dk;Z dks 10 fnuksa esa iwjk dj ldrs gSaA
mlh dke dks iwjk djus esa B dks fdruk le; yxsxk\

(a) 24 days (b) 30 days

(c) 40 days (d) 36 days

7. Two men, A and B, working separately can mow
a field in 10 and 12 hours respectively. If they
work for an hour alternately, B beginning at 9 am,
then at what time will the mowing be finished?

nks iq#"k] A vkSj B] vyx&vyx dke djrs gq, ,d •sr
dks Øe'k% 10 vkSj 12 ?kaVs esa dkV ldrs gSaA ;fn os oSdfYid
:i ls ,d ?kaVs ds fy, dke djrs gSa] B lqcg 9 cts 'kq:
gksrk gS] rks ?kkl fdrus cts lekIr gksxh\

(a) 7:30pm (b) 8:00pm

(c) 8:30pm (d) 9:00pm

Time and Work @le; vkSj dk;Z
(Practice Sheet With Solution)
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8. Ram can do a piece of work in 20 days which
Shyam can do in 30 days. They begin together
with the condition that Ram shall leave the job
3 days before the actual completion of work.
What is the total number of days required to
complete the work? (approx)

jke fdlh dke dks 20 fnuksa esa dj ldrk gS ftls ';ke
30 fnuksa esa dj ldrk gSA os ,d lkFk bl 'krZ ds lkFk
'kq: djrs gSa fd jke dk;Z ds okLrfod lekiu ls 3 fnu
igys ukSdjh NksM+ nsxkA dk;Z dks iwjk djus ds fy, dqy
fdrus fnuksa dh vko';drk gS\ (yxHkx)

(a) 14 days (b) 19 days

(c) 27 days (d) 9 days

9. 25 days of Ram’s wages can be paid by a
certain sum of money. The same amount of
money is sufficient to pay Badriprasad’s wages
for 20 days. The number of days for which the
money will be sufficient to pay the wages of
both if they work together is.

jke dh 25 fnu dh etnwjh ,d fuf'pr jde ls pqdkbZ
tk ldrh gSA bruk gh iSlk cæhçlkn dh 20 fnuksa dh
etnwjh nsus ds fy, i;kZIr gSA ;fn os ,d lkFk dke djrs
gSa rks fdrus fnuksa ds fy, iSlk i;kZIr gksxkA

(a) 10 days (b) 11 days

(c) 100/9 days (d) 110/9 days

10. A can do a job in 10 days. B can do in 12 days
and C can do in 15 days. All begin together but
A leaves the work after 2 days and B leaves 3
days before the work is finished. How long did
the work last?

A fdlh dke dks 10 fnuksa esa dj ldrk gSA B 12 fnuksa esa
dj ldrk gS vkSj C 15 fnuksa esa dj ldrk gSA lHkh ,d
lkFk 'kq: djrs gSa ysfdu A, 2 fnu ckn dke NksM+ nsrk gS
vkSj B dke iwjk gksus ls 3 fnu igys dke NksM+ nsrk gSA
dke fdrus le; rd pyk\

(a) 5 days (b) 9 days

(c) 4 days (d) 7 days

11. Anamika can do a piece of work in 30 days an
Anjali can do the same work in 40 days. Anjali
starts the work alone and works for 15 days
and left the work. After that remaining work
completed by Anamika and Arun together in

1
7

2
 days. In how many days can Arun do the

whole work alone?

vukfedk ,d dke dks 30 fnuksa esa dj ldrh gS vatyh

mlh dke dks 40 fnuksa esa dj ldrh gSA vatyh vdsys dke

'kq: djrh gS vkSj 15 fnuksa ds fy, dke djrh gS vkSj

dke NksM+ nsrh gSA mlds ckn 'ks"k dk;Z dks vukfedk vkSj

v#.k us feydj 
1

7
2

 fnu esa iwjk fd;kA v#.k iwjs dke

dks vdsys fdrus fnuksa esa dj ldrk gS\

(a) 15 days (b) 20 days

(c) 30 days (d) 25 days

12. Two persons Aman and Bhanu can dig a pit in

20 days and 25 days respectively and a third

person Cheenu can fill that pit in 50 days. All

of the three persons start their work and after

sometime Cheenu leaves the work. If total time

taken to dig the pit from the beginning is 13

days, find after how many days Cheenu left his

work?

nks O;fÙkQ veu vkSj Hkkuq Øe'k% 20 fnuksa vkSj 25 fnuksa esa

,d xîôk •ksn ldrs gSa vkSj ,d rhljk O;fÙkQ phuw ml

xîôs dks 50 fnuksa esa Hkj ldrk gSA rhuksa O;fÙkQ viuk dke

'kq: djrs gSa vkSj dqN le; ckn phuw dke NksM+ nsrk gSA

;fn 'kq#vkr ls xîôk •ksnus esa dqy 13 fnu yxrs gSa] rks

Kkr dhft, fd fdrus fnuksa ds ckn phuw us viuk dke

NksM+ fn;k\

(a) 8.5 days (b) 7.5 days

(c) 9.5 days (d) 8 days

13. Rohan takes twice the time taken by Sohan to

complete a piece of work and half of the time

taken by Mohan to complete the work. If all

of them working together can complete the

work in 12 days, in how many days Rohan and

Sohan working together can complete that

work?

jksgu ,d dk;Z dks iwjk djus esa lksgu }kjk fy, x, le;

dk nksxquk le; ysrk gS vkSj eksgu }kjk fy, x, le; dk

vk/k le; ysrk gSA ;fn os lHkh ,d lkFk dk;Z djrs gq,

12 fnuksa esa dk;Z iwjk dj ldrs gSa] rks jksgu vkSj lksgu

,d lkFk dk;Z djrs gq, ml dk;Z dks fdrus fnuksa esa iwjk

dj ldrs gSa\

(a) 12 days (b) 14 days

(c) 21 days (d) 25 days
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14. A can do a piece of work in 18 days, B can do

it in 24 days and C can do it in 60 days.

Efficiency of D is twice the efficiency of C. If

A worked for 2 days, B worked for 4 days and

C worked for 6 days. How many days will D

take to complete the remaining work alone? 

A fdlh dke dks 18 fnuksa esa dj ldrk gS] B mlh dke
dks 24 fnuksa esa dj ldrk gS vkSj C mlh dke dks 60
fnuksa esa dj ldrk gSA D dh {kerk C dh n{krk ls nksxquh
gSA ;fn A us 2 fnuksa ds fy, dk;Z fd;k] B us 4 fnuksa ds
fy, dk;Z fd;k vkSj C us 6 fnuksa ds fy, dk;Z fd;kA
'ks"k dk;Z dks vdsys iwjk djus esa D dks fdrus fnu yxsaxs\

(a)
2

28 days
3

(b)
3

28 days
4

(c)
2

18 days
3

(d)
3

18 days
4

15. A, B and C can do a piece of work in 12, 18

and 24 days, respectively. They all begin

together. A work continuously till it is finished,

B leaves the work 2 days before its completion

and C leaves the work 4 days before its

completion. In what approximate time is the

work finished?

A] B vkSj C ,d dke dks Øe'k% 12] 18 vkSj 24 fnuksa esa
dj ldrs gSaA os lc ,d lkFk 'kq: djrs gSaA A dk;Z lekIr
gksus rd dk;Z djrk gS] B dk;Z iwjk gksus ls 2 fnu igys
dk;Z NksM+ nsrk gS vkSj C dk;Z iwjk gksus ls 4 fnu igys dk;Z
NksM+ nsrk gSA dke fdrus vuqekfur le; esa lekIr tk;sxk\

(a) 4 days (b) 7 days

(c) 5 days (d) 9 days

16. A contractor decided to complete a work in 90

days. He employed 250 men at the beginning

and another 150 men after 60 days and

completed the work in stipulated time. Had he

not employed the additional men, what percent

more time he would have taken to finish the

work?

,d Bsdsnkj us 90 fnuksa esa ,d dke iwjk djus dk iQSlyk
fd;kA mlus 'kq#vkr esa 250 iq#"kksa dks fu;qÙkQ fd;k vkSj
60 fnuksa ds ckn vU; 150 iq#"kksa dks fu;qÙkQ fd;k vkSj
fu/kZfjr le; esa dke iwjk fd;kA ;fn mlus vfrfjÙkQ vknfe;ksa
dks fu;qÙkQ ugha fd;k gksrk] rks mls dke iwjk djus esa fdruk
çfr'kr vf/d le; yxrk\

(a) 27% (b) 30%

(c) 20% (d) 50%

17. Vijay can do a piece of work in 24  days.

Rakesh can do the same work in 30 days and

Vinod in 40 days. Vijay and Vinod worked for

4 days and handed it to Rakesh. Rakesh

worked for some days and handed it again to

Vijay and Vinod 6 days before completing the

work. For how many days did Rakesh work?

fot; 24 fnuksa esa ,d dke dj ldrk gSA jkds'k leku
dk;Z dks 30 fnuksa esa vkSj fouksn 40 fnuksa esa dj ldrk gSA
fot; vkSj fouksn us 4 fnu dke fd;k vkSj jkds'k dks
lkSai fn;kA jkds'k us dqN fnuksa rd dke fd;k vkSj dke
iwjk djus ls 6 fnu igys bls fiQj ls fot; vkSj fouksn
dks lkSai fn;kA jkds'k us fdrus fnuksa rd dk;Z fd;k\

(a) 5 days (b) 10 daysC

(c) 8 days (d) 6 days

18. A can finish a work in 5 days and B takes 4

days to do the same work. If the work is

increased by 8 times, How many days will it

take for both of them to finish the work if they

work together?

A ,d dke dks 5 fnu esa iwjk dj ldrk gS vkSj B mlh
dke dks djus esa 4 fnu ysrk gSA ;fn dk;Z dks 8 xquk c<+k
fn;k tkrk gS] rks nksuksa feydj dk;Z dks iwjk djus esa fdrus
fnuksa dk le; ysaxs\

(a) 10 days (b) 15 days

(c) 25 days (d) 20 days

19. 12 students working for 5 hours a day can
solve a certain number of problems in 8 days.
How many boys are needed to solve five times
the original number of problems, if they work
at 4 hours a day for 15 days?

12 fo|kFkhZ çfrfnu 5 ?kaVs dk;Z djds 8 fnuksa esa dqN
fuf'pr la[;k esa ç'u gy dj ldrs gSaA ;fn os 15 fnuksa
ds fy, çfrfnu 4 ?kaVs dke djrs gSa] rks ewy la[;k dh
ikap xquh leL;kvksa dks gy djus ds fy, fdrus yM+dksa dh
vko';drk gksxh\
(a) 90 (b) 45

(c) 40 (d) 100

20. A group of men decided to do a job in 4 days,
but 20 men dropped out everyday. Find the
number of men who initially decided to do the
job, if job was completed in 7 days?

iq#"kksa ds ,d lewg us 4 fnuksa esa ,d dke djus dk iQSlyk
fd;k] ysfdu 20 vkneh gj jkst ckgj fudy x,A iq#"kksa
dh la[;k Kkr dhft, ftUgksaus 'kq: esa dk;Z djus dk fu.kZ;
fy;k] ;fn dk;Z 7 fnuksa esa iwjk fd;k tkrk gS\
(a) 70 (b) 110

(c) 140 (d) 120
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21. If 5 men and 5 women work together then they
can finish a work in 5 days but if 5 women

work alone then they take 
40

3
 more days than

the time required by 5 men. Find efficiency of
one woman is how much percentage less than
one man? 

;fn 5 iq#"k vkSj 5 efgyk,a ,d lkFk dk;Z djrs gSa rks os
,d dk;Z dks 5 fnuksa esa lekIr dj ldrs gSa ysfdu ;fn 5
efgyk,a vdsys dk;Z djrh gSa rks os 5 iq#"kksa }kjk fy, x,

le; ls 
40

3
 vf/d fnu ysrh gSaA ,d efgyk dh n{krk

,d iq#"k ls fdrus çfr'kr de gS\
(a) 60% (b) 66.66%

(c) 40% (d) 62.5%

22. A can do 
3

5
th of work in 15 days. Efficiency

of B is 25% more than that of A. Both A and B
started working together and left the work
after five days. C completed the remaining
work in 11 days. Efficiency of C is what
percent more/less than that of A ?

A 15 fnu esa 
3

5
 dke dj ldrk gSA B dh {kerk A dh

rqyuk esa 25» vf/d gSA A vkSj B nksuksa us ,d lkFk dke
djuk 'kq: fd;k vkSj ikap fnuksa ds ckn dke NksM+ fn;kA
C us 'ks"k dk;Z dks 11 fnuksa esa iwjk fd;kA C dh {kerk A
dh rqyuk esa fdrus çfr'kr vf/d@de gS\
(a) 20% less (b) 25% more

(c) 20% more (d) 25% less

23. 5 Men can do a piece of work in 6 days. 6
Women can do 40% of same work in 4 days and
3 Children can do 75% of same work in 6 days.
If 2 Men, 3 Women and 1 Child start work
alternately, then who will be the last to
complete the work?

5 iq#"k ,d dke dks 6 fnuksa esa dj ldrs gSaA 6 efgyk,a
leku dk;Z dk 40» Hkkx 4 fnuksa esa dj ldrh gSa vkSj 3 cPps
mlh dk;Z dk 75» Hkkx 6 fnuksa esa dj ldrs gSaA ;fn 2 iq#"k]
3 efgyk,a vkSj 1 cPpk ckjh&ckjh ls dke djuk 'kq: djrs
gSa] rks dke iwjk djus okyk lcls vkf•j esa dkSu gksxk\
(a) Men (b) Women

(c) Child (d) Can’t be determined

24. 3 workers Peroola, Rahul and Prashant can
complete a piece of work in 6 days. Peroola
takes 15 days less than Rahul to complete the
same work. Find in how many days will
Prashant complete the whole work alone with
75% of his original efficiency, if Rahul can
complete the work alone in 35 days?

3 deZpkjh is:yk] jkgqy vkSj ç'kkar ,d dke dks 6 fnuksa
esa iwjk dj ldrs gSaA is:yk leku dk;Z dks iwjk djus esa
jkgqy ls 15 fnu de ysrk gSA Kkr dhft, fd ç'kkar viuh
ewy n{krk ds 75» ds lkFk vdsys iwjs dk;Z dks fdrus fnuksa
esa iwjk djsxk] ;fn jkgqy vdsys dk;Z dks 35 fnuksa esa iwjk
dj ldrk gS\

(a)
560

days
37

(b)
499

days
36

(c)
361

days
17

(d)
555

days
43

25. X can complete half of the work in 20 days
and Y can do one-fifth of the same work in 10
days. X started the work and left after 8 days.
Then Y took over to complete the remaining
work. The total number of days taken by them
to complete the work is:

X vk/s dke dks 20 fnuksa esa iwjk dj ldrk gS vkSj Y mlh
dke dk ikapoka fgLlk 10 fnuksa esa iwjk dj ldrk gSA X us
dke 'kq: fd;k vkSj 8 fnu ckn dke NksM+ fn;kA fiQj 'ks"k
dk;Z dks iwjk djus ds fy, Y us dk;ZHkkj laHkkykA dk;Z dks
iwjk djus esa muds }kjk fy, x, dqy fnuksa dh la[;k gS%

(a) 50 days (b) 60 days

(c) 40 days (d) 48 days

26. 10 men or 15 women can complete a work in
30 days. In how many days can 15 men and
27 women complete the work?

10 iq#"k ;k 15 efgyk,a ,d dk;Z dks 30 fnuksa esa iwjk dj
ldrs gSaA 15 iq#"k vkSj 27 efgyk,a dk;Z dks fdrus fnuksa
esa iwjk dj ldrs gSa\

(a)
1

9
11

(b)
1

5
11

(c)
1

11
11

(d)
1

6
11

27. A can complete one-sixth of a work in 5 days

and B can complete one-fourth of the same

work in 15 days. In how many days, will both

working together complete the work?

A fdlh dk;Z dk NBk Hkkx 5 fnuksa esa iwjk dj ldrk gS
vkSj B mlh dk;Z dk ,d&pkSFkkbZ Hkkx 15 fnuksa esa iwjk dj
ldrk gSA nksuksa feydj dk;Z djrs gq, ml dk;Z dks fdrus
fnuksa esa iwjk djsaxs\

(a) 20 days (b) 25 days

(c) 10 days (d) 12 days
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28. If 10 men or 20 women or 40 boys can do a

job in 7 months, then 5 men, 5 women and 5

boys can do half the work in,

;fn 10 iq#"k ;k 20 efgyk,a ;k 40 yM+ds fdlh dke dks
7 eghus esa dj ldrs gSa] rks 5 iq#"k] 5 efgyk,a vkSj 5
yM+ds vk/s dke dks fdrus fnuksa esa dj ldrs gSa\

(a) 6 months

(b) 5 months

(c) 4 months

(d) 8 months

29. A can do a work alone in 4 days and B can do

the same work alone in 6 days. If they work

in alternate days with A starting the work, in

how many days will the work be completed?

A vdsys fdlh dke dks 4 fnuksa esa dj ldrk gS vkSj B

vdsys mlh dke dks 6 fnuksa esa dj ldrk gSA ;fn os
,dkarj fnuksa esa dke djrs gSa vkSj A dke 'kq: djrk gS]
rks dke fdrus fnuksa esa iwjk gksxk\

(a)
1

4 days
2

(b)
1

3 days
2

(c)
1

3 days
4

(d)
2

4 days
3

30. A builder appoints three construction

workers Akash, Sunil and Rakesh on one of

his sites. They take 20, 30 and 60 days

respectively to do a piece of work. How many

days will it take Akash to complete the entire

work if he is assisted by Sunil and Rakesh

every third day?

,d fcYMj us viuh ,d lkbV ij rhu fuekZ.k Jfedksa
vkdk'k] lquhy vkSj jkds'k dks fu;qDr fd;kA os ,d dk;Z
dks djus esa Øe'k% 20] 30 vkSj 60 fnu ysrs gSaA vkdk'k
dks iwjs dke dks iwjk djus esa fdrus fnu yxsaxs ;fn gj
rhljs fnu lquhy vkSj jkds'k mldh lgk;rk djrs gSa\

(a) 10 days (b) 15 days

(c) 25 days (d) 30 days

31. P and Q can complete a project in 15 days

and 10 days, respectively. They started doing

the work together, but after 2 days, Q had to

leave and P alone completed the remaining

work. In how many days was the whole work

completed?

P vkSj Q ,d ifj;kstuk dks Øe'k% 15 fnukas vkSj 10
fnuksa esa iwjk dj ldrs gSaA mUgks aus ,d lkFk dke 'kq:
fd;k] ysfdu 2 fnuksa ds ckn Q dks NksM+uk iM+k vkSj P
us vdsys 'ks"k dke iwjk fd;kA iwjk dke fdrus fnuksa esa
lekIr gqvk\

SSC CGL 01/12/2022 (Shift- 01)

(a) 11 (b) 12

(c) 13 (d) 10

32. 6 men and 8 women can do a piece of work

in 10 days, whereas 26 men and 48 women

can do the same work in 2 days. What will

be the time taken by 15 men and 20 women

to do the same work?

6 iq#"k vkSj 8 efgyk,a ,d dke dks 10 fnuksa es dj

ldrs gSa] tcfd 26 iq#"k vkSj 48 efgyk,a mlh dke
dks 2 fnuksa esa dj ldrs gSaA mlh dke dks djus ds fy,
15 iq#"kks a vkSj 20 efgykvksa dks fdruk le; yxsxk\

SSC CGL 01/12/2022 (Shift- 04)

(a) 6 days (b) 10 days

(c) 4 days (d) 8 days

33. A takes twice as much time as B and thrice

as much time as C to finalise a task. Working

together, they can complete the task in 8 days.

The time (in days) taken by A, B and C,

respectively, to complete the task is:

A fdlh dk;Z dks iwjk djus esa B ls nksxquk vkSj C ls

rhu xquk le; ysrk gSA ,d lkFk feydj dk;Z djrs gq,]

os 8 fnuksa esa dk;Z dks iwjk dj ldrs gSaA dk;Z dks iwjk

djus ds fy, Øe'k% A, B vkSj C }kjk fy;k x;k le;

(fnuksa esa) Kkr dhft,A

SSC CGL 02/12/2022 (Shift- 02)

(a) 42, 21, 14 (b) 60, 30, 20

(c) 54, 27, 18 (d) 48, 24, 16

34. Ruchi, Khushi and Teju can do a piece of work

in 30, 40 and 60 days respectively. In how many

days can Ruchi do the work, if she is assisted

by both Khushi and Teju on every third day?

#fp] [kq'kh vkSj rstw ,d dk;Z dks Øe'k% 30] 40 vkSj
60 fnu esa iwjk dj ldrs gSaA ;fn [kq'kh vkSj rstw nksuks a
gj rhljs fnu #fp dh lgk;rk djrs gSa] rks #fp fdrus
fnu esa dk;Z iwjk dj ldrh gS\

SSC CGL 03/12/2022 (Shift- 01)

(a)
550

days
12

(b)
85

days
4

(c)
71

days
2

(d)
360

days
17
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35. A and B working separately can complete a

piece of work in 10 and 16 days, respectively.

If they work for a day alternately, with A

beginning the work, in how many day(s) will

the work be completed?

A vkSj B vyx&vyx dk;Z djrs gq, ,d dk;Z dks
Øe'k% 10 vkSj 16 fnuksa esa iwjk dj ldrs gSaA ;fn os
,d fnu ds fy, ckjh&ckjh ls dk;Z djrs gSa] A }kjk dk;Z
'kq: djus ds lkFk] dk;Z fdrus fnu@fnuks a es a iwjk gksxk\

SSC CGL 03/12/2022 (Shift- 04)

(a)
1

10
4

(b)
1

12
4

(c)
1

1
4

(d)
1

4

36. Numan does half of  the work as Gagan in 
4

5

time. If together they take 16 days to complete

a piece of work, then how long will Gagan take

to complete the work?

uqeu 
4

5
 le; esa xxu ls vk/k dke djrk gSA ;fn os

,d lkFk ,d dk;Z dks iwjk djus esa 16 fnu ysrs gSa] rks

xxu dks ml dk;Z dks iwjk djus eas fdruk le; yxsxk\
SSC CGL 05/12/2022 (Shift- 01)

(a) 23 days (b) 24 days

(c) 25 days (d) 26 days

37. A, B and C together can complete the work

in 24 days. Efficiency of A is thrice of B and

efficiency of C is 50% of A and B together.

In how many days B alone complete the work?

A, B vkSj C feydj 24 fnuksa es a dke iwjk dj ldrs

gSaA A dh n{krk B dk rhu xquk gS vkSj C dh n{krk A

vkSj B dh ,d lkFk n{krk dk 50» gSA fdrus fnuksa esa

B vdsys dke iwjk djrk gS\
(a) 36 days (b) 40 days

(c) 144 days (d) 48 days

38. A and B can complete the work in 20 days

and 30 days respectively and after 5 days C

joined with them. C is twice the efficiency of

B. In how many days total work is completed?

A vkSj B Øe'k% 20 fnuksa esa 30 fnuksa esa dke iwjk dj
ldrs gSa vkSj 5 fnuksa ds ckn C muds lkFk tqM+ x;kA
C, B dh n{krk ls nksxquk gSA dqy dk;Z fdrus fnuksa esa
iwjk gksrk gS\

(a)
8

5
9

days (b)
8

6
9

days

(c)
8

7
9

 days (d)
8

8
9

days

39. In the beginning Akash works at a rate such
that he can finish a piece of work in 36 hours,
but he works at this rate for 12 hours. After
that he increased his efficiency by 33.33%. If
Akash is to finish this work at a stretch, how
many hours will he take to finish this work?

'kq#vkr esa vkdk'k bl nj ls dk;Z djrk gS fd og 36
?kaVs esa ,d dk;Z [kRe dj ldrk gS] ysfdu og bl nj
ij 12 ?kaVs dk;Z djrk gSA blds ckn mUgksaus viuh dk;Z{kerk
(n{krk) esa 33-33 izfr'kr dh o`f¼ dhA ;fn vkdk'k
dks bl dk;Z dks ,d gh ckj esa iwjk djuk gS] rks mls
bl dk;Z dks iwjk djus esa fdrus ?kaVs yxsaxs\
(a) 32 (b) 30

(c) 28 (d) 25

40. Efficiency of Pawan is 50% more than Ravish
and Ravish takes 21 days to complete a piece
of work. Pawan started the work alone and then
Ravish joined her 5 days before actual
completion of the work. For how many days
Pawan worked alone?

iou dh n{krk joh'k ls 50» vf/d gS vkSj joh'k dk;Z
dks iwjk djus esa 21 fnu dk le; ysrk gSA vdsys iou
us dk;Z 'kq# fd;k vkSj fiQj joh'k dk;Z ds Bhd iwjk
gksus ls 5 fnu igys mlds lkFk tqM+ x;kA vdsys iou us
fdrus fnuksa rd dk;Z fd;k\

(a)
2

5
3

(b)
5

3

(c)
11

3
(d)

19

3

41. A and C can do a piece of work in 14 days. C
and D can do the same work in 10.5 days. If
the efficiency of B is seven times of C . A and
D can do the same work in 8.4 days, find the
time taken by B to complete the work.

A vkSj C ,d dke dks 14 fnuksa esa dj ldrs gSaA C

vkSj D leku dk;Z dks 10-5 fnuksa esa dj ldrs gSaA ;fn
B dh n{krk C dh lkr xquk gSA A vkSj D mlh dk;Z
dks 8-4 fnuksa esa dj ldrs gSa] B }kjk dk;Z dks iwjk
djus esa fy;k x;k le; Kkr dhft,A
(a) 4 (b) 5

(c) 6 (d) 7

42. A Completes the work alone in 20 days. Ratio
of efficiency of A and B is 3:2. Ratio of time
between B and C is 3:4. A started the work.
After 2 days, B joined with him. After 2 days
of work A left the work. B alone worked for
2 days, then C joined him. B and C worked
for 4 days then B left the work. Now C
increased its efficiency by 33.33% and finished
the work. Find the total time taken to finish
the work.
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A vdsys dk;Z dks 20 fnuksa esa iwjk djrk gSA A vkSj B

dh n{krk dk vuqikr 3 % 2 gSA B vkSj C ds chp le;
dk vuqikr 3 : 4 gSA A us dke 'kq: fd;kA 2 fnuksa ds
ckn B mlds lkFk tqM+ x;kA 2 fnu ds dk;Z ds ckn A

us dk;Z NksM+ fn;kA vxys 2 fnu rd B vdsys dke
djrk gSA B vkSj C us 4 fnu dke fd;k fiQj B us dke
NksM+ fn;kA vc C us viuh n{krk es a 33-33» dh o`f¼
dh vkSj dk;Z lekIr dj fn;kA dk;Z dks iwjk djus esa
fy;k x;k dqy le; Kkr dhft,A

(a) 22 days (b) 23 days

(c) 25 days (d) 36 days

43. A is 25% less efficient than B. A completes

the work in 16 days. A and B start the work,

after 5 days of work A leaves the work, B works

one day alone then C joins him and finishes

the rest of the work in 1 day. Find how many

days will C alone complete the work.

A, B ls 25» de dq'ky gSA A leku dk;Z dks 16 fnuksa
ea s iwjk djrk gSA A vkSj B dke 'kq: djrs gSa] 5 fnuksa
ds dke ds ckn A dke NksM+ nsrk gS] B ,d fnu vdsys
dke djrk gS fiQj C mlds lkFk tqM+ tkrk gS vkSj ckdh
dke dks 1 fnu esa [kRe dj nsrs gSaA Kkr dhft, fd C

vdsys leku dk;Z dks fdrus fnuksa esa iwjk djsxkA

(a) 9.6 days (b) 9.3 days

(c) 10.5 days (d) 11.36 days

44. Efficiency of A is 30% more than that of B
and B takes 39 days to complete a piece of
work. A started work alone and then B joined
him 6 days before the actual completion of
the work. How many days A worked alone?

A dh {kerk B dh rqyuk esa 30» vf/d gS vkSj B ,d
dk;Z dks iwjk djus esa 39 fnu ysrk gSA A vdsys dke 'kq:
djrk gS vkSj fiQj B okLrfod dke iwjk gksus ls 6 fnu igys
mlds lkFk tqM+ tkrk gSA A us fdrus fnu vdsys dke fd;k\

(a)
5

16
13

 days (b)
5

17
13

days

(c)
5

18
13

days (d)
5

19
13

days

45. Two persons X and Y can do a piece of work
in 84 days and 72 days respectively. Another

person Z can do the same work in 
3

17
13

 more

days as X and Y take together to complete the
work. If on the first day X and Y work together
and on the second day Y and Z work together
alternatively, then find how many days the
total work will be completed?

nks O;fDr X vkSj Y ,d dk;Z dks Øe'k% 84 fnuksa vkSj
72 fnuksa esa dj ldrs gSaA ,d vU; O;fDr Z leku dk;Z

dks 
3

17
13

vf/d fnuksa eas dj ldrk gS tSls X vkSj Y

,d lkFk dk;Z dks iwjk djrs gSaA ;fn igys fnu X vkSj
Y ,d lkFk dk;Z djrs gSa vkSj nwljs fnu Y vkSj Z ,d
lkFk oSdfYid :i ls dk;Z djrs gSaA rks Kkr dhft, fd
dqy dk;Z fdrus fnuksa esa iwjk gksxk\

(a)
13

24
17

days (b)
11

34
13

days

(c)
5

37
7

days (d)
4

28
9

days

46. B is 20% less efficient than C. A is 20% more

efficient than C. A and C working together can

complete a work in 8 days. Then find the

number of days taken by A and B to complete

the work with 50% of his efficiency.

B, C ls 20» de dq'ky gSA A, C ls 20» vf/d dq'ky
gSA A vkSj C ,d lkFk dk;Z djrs gq, 8 fnuksa esa ,d
dk;Z dks iwjk dj ldrs gSaA rks A vkSj B }kjk viuh
dk;Zdq'kyrk ds 50» ds lkFk dk;Z dks iwjk djus esa fy,
x, fnuksa dh la[;k Kkr dhft,A

(a)
2

18
3

 days (b)
1

18
7

 days

(c)
1

17
5

 days (d)
3

17
5

 days

47. Person A can complete the same work in 10

days more than the time taken by person B.

Person C takes as much time to do a piece

of work as does person A and B together. C

can complete the same work in 12 days. In

how many days will persons A, B and C

complete the same work, if persons A is

accompanied by B and C on alternate days?

O;fDr A leku dk;Z dks iwjk djus ds fy, O;fDr B

}kjk fy, x, le; ls 10 fnu vf/d le; esa iwjk dj
ldrk gSA O;fDr C dks fdlh dk;Z dks djus esa mruk gh
le; yxrk ftruk le; O;fDr A vkSj B dks ,d lkFk
djus esa yxrk gSA C leku dk;Z dks 12 fnuksa esa iwjk dj
ldrk gSA O;fDr A, B vkSj C mlh dk;Z dks fdrus fnuksa
esa iwjk djsaxs] ;fn O;fDr A ds lkFk] B vkSj C oSdfYid
fnuksa esa lkFk vkrs gSa\

(a) 20 days (b) 30 days

(c) 10 days (d) 5 days
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48. The time taken by A and B together to

complete a work is 9.6 hours and the time

taken by B and C together to complete the

work is ___ hours and the time taken by A and

C together to complete the work is 
33

7
31

 hours.

C is 60% more efficient than B. Find the value,

which can be filled in the blank?

,d lkFk A vkSj B }kjk ,d dk;Z dks iwjk djus esa fy;k

x;k le; 9-6 ?kaVs gS vkSj ,d lkFk B vkSj C }kjk dk;Z

dks iwjk djus esa fy;k x;k le; ------ ?kaVs gS vkSj ,d

lkFk A vkSj C }kjk dk;Z dks iwjk djus ds fy, fy;k

x;k le; 
33

7
31

 ?kaVs gSA C, B ls 60» vf/d dq'ky gSA

og eku Kkr dhft, ftls fjDr LFkku esa Hkjk tk ldrk gS\

(a)
2

6
13

hours (b) 11
8

13
hours

(c)
10

10
13

hours (d)
3

9
13

hours

49. ‘A’ man can finish a work in B days and 0.8A

woman can finish the same work in 2(B+4)

days. Then find how many days required for

0.4A men to complete the same work, if 0.55A

women can complete it in 128 days?

'A' iq:"k ,d dke dks B fnuksa eas iwjk dj ldrs gSa vkSj

0.8A efgyk,a mlh dke dks 2(B + 4) fnuksa esa iwjk dj

ldrh gSaA rks Kkr dhft, fd 0.4A iq#"kksa dks mlh dk;Z

dks iwjk djus ds fy, fdrus fnuksa dh vko';drk gksxh]

;fn 0.55A efgyk,a bls 128 fnuksa esa iwjk dj ldrh gSa\
(a) 100 days (b) 124 days

(c) 168 days (d) 186 days

50. 6 women can do a work in one day is equal

to the work done by 4 men in a day. If a

manager assigned 60 men to complete a work

in 40 days. But in 25th day he realized only

1

3
rd of the work was completed and he decided

to appoint additional men to complete the

remaining work in given days. Find the number

of women equivalent to the number of

additional men appointed to complete the

remaining work?

6 efgyk,a ,d fnu esa ,d dk;Z dj ldrh gSa tks ,d
fnu esa 4 iq:"kks a }kjk fd, x, dk;Z ds cjkcj gSA ;fn
,d izca/d us fdlh dk;Z dks 40 fnuksa esa iwjk djus ds
fy, 60 O;fDr;ksa dks fu;r fd;k gSA ysfdu 25 osa fnu

esa  mls ,glkl gqvk fd dsoy 1

3
 dk;Z gh iwjk gqvk gS

vkSj mlus 'ks"k dk;Z dks fn, x, fnuksa esa iwjk djus ds
fy, vfrfjDr iq#"kks a dks fu;qDr djus dk iQSlyk fd;kA
'ks"k dk;Z dks iwjk djus ds fy, fu;qDr vfrfjDr iq#"kks a
dh la[;k ds cjkcj efgykvksa dh la[;k Kkr dhft,\
(a) 180 (b) 240

(c) 200 (d) 210

51. Amal completes 75% of the work in 45 days and

Pavithra completes the work in 120 days. If Amal

and Pavithra started the work together after 15

days both left and the remaining work is completed

by Sheela and Divya in 45 days and then Divya

alone completes 50% of the work in 72 days. In

how many days Sheela alone completes the work?

vey 45 fnuksa esa 75» dk;Z iwjk djrk gS vkSj ifo=kk
120 fnuksa esa dk;Z iwjk djrh gSA ;fn ,d lkFk vey
vkSj ifo=kk dk;Z 'kq: djrs gSa vkSj 15 fnuksa ds ckn
nksuks a dke NksM+ nsrs gSa vkSj 'ks"k dke 'khyk vkSj fnO;k
45 fnuksa esa iwjk djrs gSa vkSj fiQj vdsys fnO;k dk;Z
dk 50»] 72 fnuksa esa iwjk djrh gSA vdsys 'khyk dk;Z
dks fdrus fnuksa esa iwjk djsxh\
(a) 144 days (b) 288 days

(c) 72 days (d) 180 days

52. A is 25% more efficient than B. If B works

with 20% more efficient than A then B

completes the work in 10 days. Find the

number of days taken by A and B together to

complete the work, when they work on an

alternative day starts with A.

A, B ls 25» vf/d dq'ky gSA ;fn B, A ls 20» vf/d

dq'kyrk ds lkFk dk;Z djrk gS rks B ml dk;Z dks 10

fnuksa esa iwjk djrk gSA dk;Z dks iwjk djus ds fy, ,d

lkFk A vkSj B }kjk fy, x, fnuksa dh la[;k Kkr dhft,

tc os A ls 'kq: djds oSdfYid fnu ij dk;Z djrs gSA

(a)
1

13
4

 days (b)
2

15
7

 days

(c)
3

14
4

 days (d)
5

16
8

 days
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53. Worker A alone can complete 40% work in 8 hours

and time taken by worker B alone to complete

50% work is equal to that taken by worker A alone

to complete 75% work. If ratio of B’s efficiency

to C’s efficiency is 1: 2, then in what time A and

C together will complete the work?

vdsyk dk;ZdrkZ A 40» dk;Z dks 8 ?kaVs esa iwjk dj ldrk
gS vkSj vdsys dk;ZdrkZ B }kjk 50» dk;Z dks iwjk djus
esa fy;k x;k le; vdsys dk;ZdrkZ A }kjk 75» dk;Z dks
iwjk djus ds fy, x, le; ds cjkcj gSA ;fn B dh
n{krk ls C dh n{krk dk vuqikr 1 % 2 gS] rks ,d lkFk
A vkSj C dk;Z dks fdrus le; esa iwjk djsaxs\

(a)
6

9
7

 hours (b)
4

8
7

 hours

(c)
5

6
7

 hours (d)
3

7
7

 hours

54. B can complete work 1 alone in 20 days and

work 2 in 18 days. A is 33.33% more efficient

in work 1 than B and 40% less efficient in work

2 than B. A complete work 1 with help of C in

10 days, at same time A complete work 2 with

help of C. Find the difference of time taken by

C alone to complete work 1 and work 2 alone?

vdsyk B dk;Z 1 dks 20 fnuksa esa vkSj dk;Z 2 dks 18
fnuksa esa iwjk dj ldrk gSA A, B dh rqyuk esa dk;Z 1 esa
33-33» vf/d dq'ky gS vkSj B dh rqyuk esa dk;Z 2 esa
40» de dq'ky gSA A us C dh enn ls dk;Z 1 10
fnuksa esa] leku le; esa A us C dh enn ls dk;Z 2 iwjk
fd;kA vdsys C }kjk dk;Z 1 vkSj dk;Z 2 dks vdsys
iwjk djus esa fy, x, le; dk varj Kkr dhft,\

(a) 15 days (b) 14 days

(c) 18 days (d) 12 days

55. To do a certain task X would take 3 times as

long as Y and Z together; and Z would takes

4 times as long as Y and X together. Three

of them together can complete the task in 10

days. How much time is taken by X and  Z

to complete the task?

,d fuf'pr dke djus ds fy, X dks] mlh dke dks Y

vkSj Z dks ,d lkFk feydj djus esa yxs le; ls 3 xquk

le; yxrk gS] vkSj Z dks] Y vkSj X dks ,d lkFk

feydj djus esa yxsa le; ls 4 xquk le; yxrk gSA rhuksa

feydj dke dks 10 fnuksa esa iwjk dj ldrs gSaA X vkSj Z

dks ,d lkFk feydj dke iwjk djus esa fdruk le; yxsxk\

SSC CPO 09/11/2022 (Shift-01)

(a)
2

18 days
9

(b)
1

20 days
9

(c)
2

20 days
9

(d)
2

22 days
9

56. If A alone can complete a work in 20 days and B
alone can complete the same work in 30 days,
then which of the following statements is/are
correct?

A vdsyk fdlh dk;Z dks 20 fnuksa esa iwjk dj ldrk gS vkSj
B vdsyk mlh dk;Z dks 30 fnuksa esa iwjk dj ldrk gS] rks
fuEufyf[kr esa ls dkSu&lk@ls dFku lgh gS@gSa\
I. Ratio of efficiency of A and B is 3 : 2.

A vkSj B dh n{krk dk vuqikr 3 % 2 gSA
Il. Working together A and B can complete the

same work in 12 days.

A vkSj B ,d lkFk dk;Z djrs gq, mlh dk;Z dks 12 fnuksa
esa iwjk dj ldrs gSaA

SSC CHSL 10/03/2023 (Shift-02)

(a) Neither I nor II

(b) Both I and II

(c) Only II

(d) Only I

57. A, B and C together can finish a piece of work in
20 days. A alone can finish the work in 40 days.
What part of the work B and C together can
finish in a day ?

A, B vkSj C feydj ,d dk;Z dks 20 fnuksa esa lekIr dj
ldrs gSaA A vdsyk 40 fnuksa esa dke [kRe dj ldrk gSA B vkSj
C  feydj dk;Z dk fdruk Hkkx ,d fnu esa iwjk dj ldrs gSa\

SSC CHSL 14/03/2023 (Shift-03)

(a)
1

5
(b)

1

20

(c)
1

10
(d)

1

40

58. Ram alone can do a work in 5 days working 4
hours a day. Seema alone can do the same work
in 3 days working 10 hours a day. How many
hours do they need to work together in a day to
complete the same work in 6 days?

jke vdsyk ,d fnu esa 4 ?kaVs dke djds fdlh dk;Z dks 5
fnuksa esa dj ldrk gSA lhek mlh dk;Z dks vdsys 10 ?kaVs
izfrfnu dke djds 3 fnuksa esa dj ldrh gSA blh dk;Z dks 6
fnuksa esa iwjk djus ds fy, mUgsa lkFk feydj ,d fnu esa fdrus
?kaVs dke djuk iM+sxk\

SSC CHSL 17/03/2023 (Shift-04)

(a) 1 hour (b) 3 hours

(c) 5 hours (d) 2 hours
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59. S does half as much work as T in 1/8 of the time
taken by many days shall S alone take to complete
that work ?

T }kjk fy, x, le; ds 1/8 Hkkx esa S, T ls vk/k dk;Z
djrk gSA ;fn os feydj fdlh dk;Z dks 60 fnuksa esa iwjk djrs
gSa] rks S vdsys mlh dk;Z dks fdrus fnuksa esa iwjk djsxk\

SSC CHSL 17/03/2023 (Shift-03)

(a) 80 days (b) 90 days

(c) 75 days (d) 100 days

60. 4 men and 7 women can do a work in 8 days. 7
men and 4 women can do the same work in 5
days. Find the number of days in which 8 women
can finish the work ?

4 iq#"k vkSj 7 efgyk,¡ fdlh dke dks 8 fnuksa esa dj ldrs gSaA
7 iq#"k vkSj 4 efgyk,¡ leku dk;Z dks 5 fnuksa esa dj ldrs
gSaA Kkr dhft, fd 8 efgyk,¡ ml dk;Z dks fdrus fnuksa esa iwjk
dj ldrh gSa\

SSC CHSL 16/03/2023 (Shift-01)
(a) 60 days (b) 55 days

(c) 40 days (d) 45 days

61. A certain number of persons can complete a
work in 90 days. If there be 10 persons less, it
would have taken 10 days more for the work to
be completed. Find the total numbers of persons
in the begining.

,d fuf'pr la[;k esa dqN O;fDr fdlh dk;Z dks 90 fnuksa esa
iwjk dj ldrs gSaA ;fn 10 O;fDr de dj fn, tk,] rks dk;Z
iwjk gksus esa 10 fnu vf/d yxsaxsA 'kq:vkr esa O;fDr;ksa dh
dqy la[;k Kkr dhft,A

SSC CHSL 20/03/2023 (Shift-01)

(a) 90 (b) 110

(c) 85 (d) 100

62. A alone can complete a work in 20 days with
full efficiency. If the efficiency of A decreases
by 20 percent, then A alone can do the same
work in how many days?

A vdsys iwjh n{krk ds lkFk fdlh dk;Z dks 20 fnuksa esa iwjk
dj ldrk gSA ;fn A dh n{krk 20 çfr'kr de gks tkrh gS]
rks A vdsyk mlh dk;Z dks fdruh fnuksa esa dj ik,xk\

SSC CHSL 20/03/2023 (Shift-04)
(a) 30 (b) 20

(c) 25 (d) 36

63. A's efficiency is twice that of B's. A can work
only for 8 hours a day while B can work for 12
hours a day. If A can finish a work in 12 days, in
how many days can B finish the same work?

A dh dk;Z {kerk B dh dk;Z {kerk ls nksxquh gSA A ,d fnu
esa dsoy 8 ?kaVs dk;Z djrk gS] tcfd B ,d fnu esa 12 ?kaVs
dk;Z djrk gSA ;fn A fdlh dk;Z dks 12 fnuksa esa iwjk dj
ldrk gS] rks B ml dk;Z dks fdrus fnuksa esa iwjk djsxk\

CGL PRE, 14/07/2023 (Shift-3)

(a) 8 (b) 10

(c) 16 (d) 12
64. To do a certain work, Ajay and Bharat work on

alternate days, with Bharat starting the work
on the first day. Ajay can finish the work alone
in 32 days. If the work gets completed in exactly
8 days, then Bharat alone can finish 7 times
the same work in ____ days.

,d fuf'pr dk;Z dks djus ds fy, vt; vkSj Hkjr ,dkarj
fnuksa esa dk;Z djrs gSa] Hkjr igys fnu ls dk;Z 'kq: djrk gSA
vt; 32 fnuksa esa vdsyk dk;Z iwjk dj ldrk gSA ;fn dk;Z
Bhd 8 fnuksa esa iwjk gks tkrk gS] rks Hkjr vdsyk mlh dk;Z dk
7 xquk ____  fnuksa esa iwjk dj ldrk gSA

CGL PRE, 14/07/2023 (Shift-4)

(a)
28

8
(b) 4

(c)
32

7
(d) 32

65. 15 men and 21 women, working together, can do a
job in 56 days, while 12 men and 24 women, working
together, can do the same job in 64 days. In how
many days can the same job be done by 18 men and
24 women, working together?

15 iq#"k vkSj 21 efgyk,a ,d lkFk feydj dk;Z djrs gq,
,d dk;Z dks 56 fnu esa iwjk dj ldrs gSa] tcfd 12 iq#"k
vkSj 24 efgyk,a ,d lkFk feydj dk;Z djrs gq, mlh dk;Z
dks 64 fnu esa iwjk dj ldrs gSaA 18 iq#"k vkSj 24 efgyk,a ,d
lkFk feydj dk;Z djrs gq, mlh dk;Z dks fdrus dk;Z fnuksa esa
iwjk dj ldrs gSa\

SSC CGL TIER I 17/07/2023 (Shift-04)

(a)
6

47
19

(b)
5

47
19

(c)
9

47
19

(d)
3

47
19

66. A and B are equally efficient, and each could
individually complete a piece of work in 30
days, if none took any holiday. A and B started
working together on this piece of work, but A
took a day off after every four days of work,
while B took a day off after every five days of
work. If the both had started work on 01
August 2022, on which date was the work
completed?

A vkSj B leku :i ls dk;Z dq'ky gSa vkSj ;fn fdlh us
dksbZ vodk'k ugha fy;k rks çR;sd O;fÙkQxr :i ls 30 fnu
esa ,d dk;Z iwjk dj ldrk gSA A vkSj B us bl dk;Z ij
,d lkFk dk;Z djuk 'kq: fd;k] ysfdu A us gj pkj fnu
dk;Z djus ds ckn ,d fnu dk vodk'k fy;k tcfd B us
gj ik¡p fnu dk;Z djus ds ckn ,d fnu dk vodk'k
fy;kA ;fn nksuksa us 01 vxLr 2022 dks dk;Z djuk çkjEHk
fd;k Fkk rks dk;Z fdl frfFk dks iw.kZ gqvk\

SSC CGL TIER I 18/07/2023 (Shift-03)
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(a) 19 August 2022

(b) 17 August 2022

(c) 16 August 2022

(d) 18 August 2022

67. A alone can finish a work in 15 days. A works
only for the first two days and last two days.
The rest work is done by B and the work is
completed in 20 days. In how many days A and
B together can finish the work?

A vdsys fdlh dk;Z dks 15 fnuksa esa iwjk dj ldrk gS vkSj
og dsoy igys nks fnu vkSj vkf•jh nks fnu ds nkSjku
dk;Z djrk gSA 'ks"k dk;Z B }kjk fd;k tkrk gS vkSj dk;Z
20 fnuksa esa iwjk gksrk gSA A vkSj B feydj ml dk;Z dks
fdrus fnuksa esa iwjk dj ldrs gSa\

SSC CGL TIER I 18/07/2023 (Shift-03)

(a) 
90

8
(b) 

80

7

(c) 
80

9
(d) 

70

8

68. A man and a woman can finish a work together
in half the time taken by a woman and a boy
together. A boy can finish the work alone in 20
days and 2 women together can finish it in 30
days. In how many days will the work be
finished by 4 men?

,d iq#"k vkSj ,d efgyk feydj ,d dk;Z dks] ,d efgyk
vkSj ,d yM+ds }kjk feydj fy, x, le; ls vk/s le;
esa iwjk dj ldrs gSaA ,d yM+dk vdsys bl dk;Z dks 20
fnu esa iwjk dj ldrk gS vkSj 2 efgyk,a feydj mls 30
fnu esa iwjk dj ldrh gSaA 4 iq#"k dk;Z dks fdrus fnu esa
iwjk djsaxs\

SSC CGL TIER I 18/07/2023 (Shift-04)

(a) 2 (b) 2.14

(c) 2.5 (d) 3

69. A and B can individually complete a piece of
work in 18 days and 30 days, respectively. A
and B started working together, but A left

2
16

3
days before the work is completed and B

alone completed the rest of the work. For how
many days did A  work?
A vkSj B vyx&vyx ,d dk;Z dks Øe'k% 18 fnu vkSj
30 fnu esa iwjk dj ldrs gSaA A vkSj B ,d lkFk dk;Z

djuk 'kq: djrs gSa] ysfdu A dk;Z iwjk gksus ls 
2

16
3
 fnu

igys dke NksM+ nsrk gS vkSj B vdsys 'ks"k dk;Z dks iwjk
djrk gSA A us fdrus fnuksa rd dk;Z fd;k\

SSC CGL TIER I 20/07/2023 (Shift-01)

(a) 4 (b) 5

(c) 6 (d) 3

70. P and Q can do a job in 24 days, Q and R can
do it in 30 days, while P and R can do it in 40
days. X is four times as efficient as P, Y is half
as efficient as Q, and Z is 2.5 times as efficient
as R. Determine the number of days required
to complete the same job if X, Y and Z work
together.

P vkSj Q ,d dk;Z dks 24 fnuksa esa iwjk dj ldrs gSa] Q

vkSj R blh dk;Z dks 30 fnuksa esa iwjk dj ldrs gSa] tcfd
P vkSj R ml dk;Z dks 40 fnuksa esa iwjk dj ldrs gSaA X,

P ls pkj xquk dq'ky gS] Y, Q dk vk/k dq'ky gS] vkSj Z,

R ls 2-5 xquk dq'ky gSA ;fn X, Y vkSj Z ,d lkFk dk;Z
djrs gSa] rks leku dk;Z dks iwjk djus ds fy, vko';d
fnuksa dh la[;k Kkr dhft,A

SSC CGL TIER I 20/07/2023 (Shift-03)

(a) 9 (b) 12

(c) 8 (d) 10

71. A group of men decided to do a job in 13 days
but 9 men left the work after each day. The
work, as a result, got completed in 16 days.
How many men were initially in the group?

iq#"kksa ds ,d lewg us 13 fnuksa esa ,d dk;Z djus dk iQSlyk
fd;k ysfdu çR;sd fnu ds ckn 9 iq#"k dk;Z NksM+rs x,A
ifj.kker%] dk;Z 16 fnuksa esa iwjk gks ik;kA çkjaHk esa lewg esa
fdrus iq#"k Fks\

 SSC CGL (PRE) 25/07/2023 (Shift-1)

(a) 378 (b) 360

(c) 330 (d) 380

72. 10 women take 16 days to complete a work
which can be completed by 6 men in 8 days.
12 men started working and after 2 days 6 men
left, and 5 women joined them. In how many
days will the work be completed ?

10 efgyk,a fdlh dk;Z dks iwjk djus esa 16 fnu ysrh gSa]
ftls 6 iq#"k 8 fnuksa esa iwjk dj ldrs gSaA ;fn 12 iq#"kksa us
dk;Z djuk 'kq: fd;k vkSj 2 fnuksa ds ckn 6 iq#"k dk;Z NksM+
nsrs gSa vkSj 5 efgyk,¡ muds lkFk 'kkfey gks tkrh gSa] rks dk;Z
fdrus fnuksa esa iwjk gks tk,xk\

 SSC CGL (PRE) 26/07/2023 (Shift-3)

(a)
3

2
(b)

3

2

(c)
5

2
(d)

26

5
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73. (N + 18) persons, each working for 7.5 hours a
day, can complete 48% of a work in 20 days.
(N + 12) persons can complete the remaining
work in 30 days, if each of them works for 6.5
hours per day. Determine the value of N.

(N + 18) O;fDr ftlesa ls çR;sd gj fnu 7-5 ?kaVs dk;Z
dj jgk gS] 20 fnu esa 48» dk;Z iwjk dj ldrs gSaA (N +

12) O;fDr 'ks"k dk;Z 30 fnu esa iwjk dj ldrs gSa] ;fn
muesa ls çR;sd gj fnu 6-5 ?kaVs dk;Z djrk gSA N dk eku
Kkr djsaA

SSC CGL TIER I 19/07/2023 (Shift-01)

(a) 18 (b) 16

(c) 20 (d) 22

74. 20 women and 15 men together can complete
a work in 6 days. It takes 150 days for a single
woman to complete the work. In how many
days can a single man complete the work?

20 efgyk,¡ vkSj 15 iq#"k feydj ,d dk;Z dks 6 fnuksa esa iwjk
dj ldrs gSaA ,d vdsyh efgyk dks dke iwjk djus esa 150
fnu yxrs gSaA ,d vdsyk iq#"k fdrus fnuksa esa dke iwjk dj
ldrk gS\

SSC CGL PRE, 25/07/2023 (Shift-4)

(a) 450 (b) 225

(c) 350 (d) 210

75. 4 men's work is equal to 6 women's work, and
4 women's work is equal to 6 boys' work. A boy
can finish the work in 60 days. In how many
days can the work be finished by a man and a
woman together?

4 iq#"kksa dk dk;Z 6 efgykvksa ds dk;Z ds cjkcj gS vkSj 4
efgykvksa dk dk;Z 6 yM+dksa ds dk;Z ds cjkcj gSA ,d yM+dk
dk;Z dks 60 fnu esa iwjk dj ldrk gSA ,d iq#"k vkSj ,d
efgyk }kjk feydj dk;Z dks fdrus fnu esa iwjk fd;k tk
ldrk gS\

 SSC CGL (PRE) 26/07/2023 (Shift-1)

(a) 16 (b) 24
(c) 20 (d) 12

76. A group of men decided to do a job in 11 days
but 16 men left the work after each day. The
work, as a result, got completed in 15 days.
How many men were there initially in the
group?

iq#"kksa ds ,d lewg us 11 fnuksa esa ,d dke dju dk iSQlyk
fd;k ysfdu izR;sd fnu ds ckn 16 iq#"k dke NksM+ nsrs FksA
ifj.kke Lo:i] dke 15 fnuksa esa iwjk gks x;kA rks crkb, fd
'kq:vkr esa lewg esa fdrus iq#"k Fks\

 SSC CGL (PRE) 26/07/2023 (Shift-1

(a) 400 (b) 480

(c) 420 (d) 450

1.(b) 2.(c) 3.(b) 4.(b) 5.(a) 6.(c) 7.(b) 8.(a) 9.(c) 10.(d)

11.(b) 12.(a) 13.(b) 14.(c) 15.(b) 16.(c) 17.(b) 18.(d) 19.(c) 20.(c)

21.(b) 22.(b) 23.(a) 24.(a) 25.(d) 26.(a) 27.(a) 28.(c) 29.(d) 30.(b)

31.(b) 32.(c) 33.(d) 34.(b) 35.(b) 36.(d) 37.(c) 38.(d) 39.(b) 40.(a)

41.(c) 42.(b) 43.(a) 44.(d) 45.(b) 46.(d) 47.(c) 48.(b) 49.(a) 50.(d)

51.(a) 52.(a) 53.(b) 54.(a) 55.(d) 56.(b) 57.(d) 58.(d) 59.(c) 60.(b)

61.(d) 62.(c) 63.(c) 64.(d) 65.(d) 66.(d) 67.(c) 68.(b) 69.(b) 70.(d)

71.(b) 72.(b) 73.(a) 74.(a) 75.(a) 76.(c)

Answer Key
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SOLUTIONS
1. (b)

A + B   16 Days

24

15
20B + C   12 Days

C + A   10 Days

240

A, B, C together can do the whole work

59

2
~ 30 days

then,

C's efficiency 30 – 15 = 15

 C can do whole work = 
240

15
= 16 days

2. (c)

A

29

1

129

B 29

A.T.Q.

Days Work

 4 4 × 2 = 8

5th day A rest B work

Next day B rest A work

then,

  6 10

6

12

16

4 +

2 ×
10

20

28

+4×2

×2

Work done  17th day

3. (b)

(12M + 16B) × 5 = (13M + 24B) × 4

60M + 80B = 52M + 96B

8M = 16B

M 2

B 1


4. (b)

4 × (5M + 3B) = 23 hectars

2 × (3M + 2B) = 7 hectars

 20M + 12B = 23     ......(1)

(6M + 4B = 7) × 3 ..........(2)

on solving (1) and (2)

2M = 2

M = 1

and B = 
1

4

A.T.Q.

6(7M + xB) = 45

 
1

6 7 45
4

 
   
 

x

 
3

3
2

x

 x = 2

No of boys = 2

5. (a)

x   10

y   15

z   18 5

9
6 90

Work done by y and z = 3 × 11 = 33

remaining work = 90 – 33

Time taken by x = 
57

9
 Days

6. (c)

B 1 3 C 1 4
(effi)

A C 3 3 A B 2 4
    

 

A B C
effi : :

5 3 4


Total work = 12 × 10

Time taken (B) = 
120

3
= 40 days

7. (b)

ATQ

A  10

B  12 5
60

6

B  1 hour  5

A  1 hour  6

 2 hour  11 unit

 Days Work

   2   11 unit

   2 × 5   11 × 5 = 55 unit

Remaining work done by B alone = 1 day

then,

Total time = 11 hours

9 am + 11 hours = 8 pm

8. (a)

Ram  20 Days

Shyam  30 Days 2
60

3
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Total work = 60 + 3(3) = 69

Time taken to complete work = 
69

5

= 14 Days (approx)

9. (c)

25 × Ram = 20 × Badriprasad

Ram 4

Badripasad 5


Total work = 25 × 4

Total time (working together) = 
100

9
 days

10. (d)

A  10

B  12

C  15
4

60
6

5

Work done by A in 2 Days = 6 × 2 = 12

Work done by B in 3 days = 3 × 5 = 15

Total work = (60 – 12 + 15)

Time taken (B + C) = 
63

9
 = 7 days

11. (b)

ATQ

Anamika  30 Days

Anjali  40 Days 3
120

4

Work done by Anjali in 15 Days = 15 × 3

= 45

Remaining work = 120 – 45

= 75

(Anamika + Arun) efficiency = 
75

2
15



efficiency of Arun = 10 – 4

Time taken by Arun = 
120

6
 = 20 Days

12. (a)

Aman  20 Days

Bhanu  25 Days

Cheenu  50 Days 2
100

5

4

Let Cheenu left after x days, but Aman and

Bhanu both work for all 13 Days

So, Work done (Aman + Bhanu) = 13 × 9

= 117 unit

Extra = 117 – 100 = – 17

Time taken – Cheenu  
17

2
 = 8.5 days

So, x = 8.5

13. (b)

           M      R       S

Time   4   :   2    :   1

Eff.     1   :    2   :   4

Total work = 12 × 7

Time taken (Rohan + Sohan) = 
84

6
 = 14 days

14. (c)

A  18

B  24

C  60

36015 20

6

efficiency of D = 2 × 6 = 12

ATQ.

2A + 4B + 6C + x × D = 360

40 + 60 + 36 + 12x = 360

12x = 360  –136

12x = 224

x = 
224

12

= 
56

3

= 
2

18
3

 Days

15. (b)

A  12

B  18

C  24

724 6

3

Work done by B in 2 days = 4 × 2 = 8

Work done by C in 4 days 4 × 3 = 12

total work = 72 + 12 + 8

time taken (A + B + C) = 
92

13
 = 7 days (approx)

16. (c)

Total work = 250 × 60 + 400 × 30

= 15000 + 12000

= 27000

If he had now employee additional men

time taken = 
27000

250

= 108 days

extra time = 18 days

= 18
100

90
   = 20%
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17. (b)

Vijay  24 days

Rakesh  30 days

Vinod  40 days

1204 5

3

Work done by Vijay Vinod = 4 × 8 = 32

Remaining work = 88

Work done by Vijay and Vinod in 6 days = 6 ×

8 = 48

Remaining work = 40

Time taken (Rakesh) = 
40

4

= 10 Days

Rakesh work for 10 Days

18. (d)

A  5 days

B  4 days
20

4

5

8 times ofwork increased

total work = 20 + 160

= 180

Time taken by (A + B)  
180

9

= 20 Days
19. (c)

ATQ.

12 5 8 4 15

1 5

   


x

x = 40 students

20. (c)

A.T.Q.

Let number of men initially = x

x + x – 20 + x – 40 + x – 60 + x – 80 + x – 100

+ x – 120 = 4 × x

7x – 420 = 4x

3x = 420

x = 140

21. (b)

Let men can do the whole work in x days

then,

1 1 1

40 5

3

 


x

x

40
13

40 5

3

 


 
 

 

x x

x x

40
2

3

 
 

 
x 5 = 

40

3

 
 

 
x x

200
10

3
x  = 

2 40

3


x
x

2 40 200
– 10 –

3 3


x
x x

2 10 200
0

3 3
  

x
x

3x² + 10x – 200 = 0

Men x = 
20

3
days

Women = 
20 40

3 3
 = 20 days

Efficiency  Men  : Women
                  3   :   1

Required% = 
2

3
× 100 = 66.66%

22. (b)

ATQ

A  
3

5
th  15 days  25 days

A B
eff :

4 5


total work = 25 × 4 = 100

work done (A + B) in 5 days = 5 × 9

= 45

Remaining work done by C in 11 days

eff. of C = 
55

11
 = 5

A
4eff.

:
C
5

1

= 
1

4
 × 100 = 25% more

23. (a)

(5M) × 6 = (6W) × 10 = (3C) × 8

30M = 60W = 24C

M : W : C

4  : 2 :  5

Total work = 5 × 4 × 6 = 120

A.T.Q.

Days Work

3 19

×6 ×6

18 114

Remaining work 120 – 114 = 6 unit

Remaining work done by Men
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24. (a)

Peerola + Rahul + Prashant  6 days

Rahul  35 days

Peerola  20 days

420

70
12

21

efficiency of Prashant = 70 – (12 + 21) = 37

timetaken by Prashant working 75% of its

efficiency

= 
420 4

37 3




 = 

560

37
 days

25. (d)



4
200

5X  20 40       =  
1

2

X  0 0       = 1  5
1

5

Work done by X in 8 days = 8 × 5

= 40 unit

Remaining work = 160 unit

Time taken by Y = 
160

4
 = 40 days

Total time = 40 + 8 = 48 days

26. (a)

10M = 15W

M 3

W 2


Total work = 10 × 3 × 30

10 3 30
timetaken (15M 27W)

(45 94)

 
  



= 
10 3 30

99

 
  = 

100 1
9

11 11
  days

27. (a)

A  5 days  30 Days  

B  1 15 days  60 Days   1
60

2

4

1 
6

Time taken (A + B) = 
60

3
= 20 days

28. (c)

10M = 20W = 40B

 
M W B

: :
4 2 1

Total work = 10 × 4 × 7

Time taken = 
10 4 7

(20 10 5)

 

 

= 
40 7

35


= 8 months

29. (d)

A  4 day

B  6 day

3
12

2

A  1 Day  3 unit

B  1 Day  2 unit

Days              Work
    2                5
2× ×

4 10

Remaining work completed by A

then,

Total time = 
2

4
3

  = 
2

4
3

 days

30. (b)

Akash  20

Sunil  30

Rakesh  60







6
4 120

2

A.T.Q.

Days              Work
    2                 12

5× ×5

1 12

3 24

15 120

A

S + R + A

S + R + A

+ +

Required days = 15

31. (b)

P – 15 (2)

Q – 10 (3)
30

A.T.Q.

2(P + Q) + xP = 30

2(5) + 2x = 30

2x = 20

x = 10

 Whole work completed in:-

10 + 2 = 12 days

32. (c)
(6M + 8W)10 = (26M + 48W)2
30M + 40W = 26M + 48W
4M = 8W


M 2

=
W 1

Total work = (6 × 2 + 8 × 1)10
= 200 unit
(15M + 20W) D = 200
(15 ×2 + 20 × 1) D = 200
                    50D = 200
                        D = 4 days
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33. (d)

CA B

Time 6 3 2

Efficiency 1 2 3

Total work = 8 × 6 = 48 units

A  
48

= 48 days
1

B  
48

= 24 days
2

C  
48

= 16 days
3

'OR'

Directly check from option ratio of time should
be

(6 : 3 : 2)

34. (b)

R  30 (4)

K  40 (3)

T  60 (2)





120 units

Working fashion  R, R, R + K + T

3 days  4 + 4 + 9 = 17 units

21 days  119 units

Remain work done by R = 
1

4
days

 Total time = 
1

21
4

 days = 
85

days
4

35. (b)

A  10 (8)

B  16 (5)

80 units

Working fashion = (A, B, A, B...)

2 days  13 units

12 days  78 units

13th days by A 
1

4
 days

 Total time =
1

12 days
4

36. (d)

N 4 G 5

1 2

 


N 5

G 8
  (efficiency)

Total work = 16 × 13

Gagan = 
16 × 13

 = 26 days
8

37. (c)

ATQ,

Efficiency Ratio

A : B = 3 : 1 C : A + B 1 : 2

In every condition efficiency of A & B are always
same

Therefore

    C : A + B  (1:2) 2 : 4

then

A : B : C 3 : 1 : 2

Total work  6 × 24  144

then

B can do the whole work 
144

144
1

 days

38. (d)

60

3020

23

A B

Efficiency of C 2 × 2 

work done In 5 days by A & B together

 5 × 5 25 unit

Remaining work done by A, B & C In 

35 8
3

9 9
  days.

then,

total time  
8 8

5 3 8
9 9

   days

39. (b)

1
33.33%

3


36
3 27

4
 =×

A = 
36

12
3



Remain II rate = 
72

4
 = 18

Total time = 30 hours
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40. (a)

ATQ

Efficiency Ratio  Pawan : Ravish

3    :    2

Ravish can do the whole work in  21 days

then, total work  21 × 2  42 unit

work done in 5 days by Pawan & Ravish together

  5 × 5  25 unit

Reamining work done by pawan In  
17 2

5
3 3



days

41. (c)

14

4
53

42

A +C

C+D A+D

21

2

42

5

Efficiency Ratio  A : B  :  C :  D

      2  : 7  :  1 :  3

B can do the whole work

 
42

7
  6 days

42. (b)

Efficiency Ratio of A, B & C

 A : B  3 : 2

     B : C  4 : 3

 A : B : C  6 : 4 : 3     (Efficiency)

Total work  6 × 20  120 unit

work done in 2 days by A  6 × 2  12 unit

work done in 2 days by A & B together =10 × 2
20 unit

work done In 2 days by B  4 × 2  8 unit

work done In 4 days by B & C  7 × 4 =28 unit

Remaining work 120 – (12 + 20 + 8 + 28) 
52 unit

Ration of C'S efficiency 

   Before     After

   3     :     4

Remaining work done by C In  
52

4
13 days.

total time  13 + 2 + 2 + 2 + 4  23 days.

43. (a)

Efficiency Ratio of A & B
 A : B  3 : 4

Total work  3 × 16  48 unit
work done in 5 days by A & B  7 × 5 35
unit
work done in 1 days by B  4 × 1  4 unit
B can do the work in 1 days  4 unit
Remaining work done by C in 1 days.
Then,
C's efficiency  5 unit/day

C can do the whole work in 
48

5
 = 9.6 days

44. (d)

A    :    B
13    :    10
10    :    13

30    39

Efficiency

Time 

×3

Total work  39 × 10 = 390 unit
Work done in 6 days by A & B together
6 × 23 = 138

Remaining work done by A = 
252 5

19
13 13

  days

A does work alone = 
5

19
13

 days

45. (b)

72 × 7

6 7

84 72
X Y

Z can do the whole work in = 
72 × 7 224

+
13 13


504 224 728

=
13 13 13

 = 56 days

then,

72×7

6 7 9

84 72 56
X Y Z

           Days    Work

x + y   1      13

y + z   1      16
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 
17 17

2 29

34 493

 



 

Remaining work done by X and Y together in

=
11

13
 days

Total time = 
11

34
13

days

46. (d)

Efficiency ratio =  B : C   4  :  5

                             C : A   5  :  6

A : B : C   6  :  4 : 5

Total work  11 × 8 = 88 unit

Work done by A & B together in  
88

5

(with 50% efficiency)


3

17
5

 days

47. (c)

According to question

Let A can do the whole work in  x + 10 days.

then,

1 1 1
=

10 12


x x

2

2 10 1

1210


 



x

x x

 24x + 120  = x² + 10x    x² – 14x – 120 = 0

x = 20, – 6

Then,

60

2
3

5

30 20 12
A B C

      Days Work

  A + B   1    5

  A + C   1    7

   2   12

        5                5

   10    60

10 days

48. (b)
32 × 125 × 3

1250

A + B A + C

1488

96

10

250

31

Efficiency ratio  B : C
                                     5 : 8

then,
A + C – A – B = 1488 – 1250
C –  B = 238
3 unit  238

1 unit 
238

3

13 unit   
238

3
 × 13

then,
B & C can do the whole work

 
32 125 3 3

238 13

  



  
8

11
13

hours.

49. (a)
We know

2 21 1

1 2

M DM D

W W


then,
0.55A × 128 = 0.8A × 2(B + 4)


0.55A

64
0.8A

  = (B + 4)  B = 40 days

then,
0.4A men can do the whole work
 0.4A × D = 40 × A
D = 100 days

50. (d)
6W = 4M
M : W = 3 : 2
A.T.Q.

m 60 25

1
3

 
 = 

m 15

2
3

x

60 × 25 × 2 = x × 15
x = 200

Additional men  200 – 60 = 140

Additional women based on Additional men
 

70

m : w

2 : 3

140 210

  

There fore,  Required women  210
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51. (a)
A.T.Q

Amal complete the whole work 
3

4
 = 45

1 = 60 days

then,

120

2

60

1

120

Amal Pavithra

Work done in 15 days by Amal & Pavithra
together

 3 × 15 = 45

Remaining work done by Sheela and Divya
together in

= 45 days

The total work done by divya & Sheela together

= 45 
75

120
 = 

3 120

5


 72 days

Divya alone can complete the

Whole work in  72 × 2  = 144 days.

then,

Sheela alone can complete the whole work

= 
72 144

72


= 144 days

52. (a)
Efficiency      A   :   B

5    :   4
then,
B work 20% more Efficiency then A
A   :  B
5   :  6
then,
Total work  6 × 10 = 60 unit

Days Work
A  1 5

B  1 4

2 9

×6 ×6

12 54

+5

59

+1

60

+1

13

+ 1
4

A

B



1
13

4

Complete work done in 
1

13
4

days.

53. (b)

2

5

1

2

Efficiency ratio  A   :  B  : C

                              3   :  2  :  4

Total work = 3 × 20 = 60 unit

A, C together can do the whole work

60 4
8

7 7
  hours.

54. (a)

B  Work -1   20 days

A  Work -1  20 ×
3

4
= 15

B  Work -2  18

A  Work -2  18 ×
5

3
= 30

C alone can complete the work – 1

= 
15 10

5


= 30 days

C alone can complete the work – 2

= 
30 10

20

  = 15 days

Required difference = 30 – 15 = 15 days

55. (d)

Case- I

Time taken by x and (y + z) = 3 : 1

Eff. = 1 : 3 = 5 : 15

Case- 2

Time taken by z and (y + x) = 4 : 1

Eff. = 1 : 4 = 4 : 16

Total work = 20 × 10 = 200 units

Time taken by x and z to complete the work

200 2
22

9 9
   days

56. (b)

A

B

20

30

3

2

60

(I) Efficiency of A : B = 3 : 2

(II) A and B together complete the Same work =

60

3 2
= 12 days

Both (i) and (ii) are correct.
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57. (d)

Efficiency (B + C) = (A + B + C) – A = (2 – 1) = 1

(B + C) finish work in a day = 
1

40

58. (d)

Rama = 5 × 4 = 20 hr

Seema = 3 × 10 = 30hr

Rama  20 3

2
60

Seema  30

They need to work together in a day to complete

the same work in 6 days

= 
60 60

(3 2) 6 30


 
 = 2 hours

59. (c)

S × 1 = T × 4

S 4

T 1


Total work = (4 + 1) × 60 = 300

S alone takes to complete that work

300

4
  = 75 days

60. (b)

(4 m + 7 w) × 8 = (7 m + 4 w) × 5

= 32 m + 56 w = 35 m + 20 w

= 36 w = 3 m

m 12

w 1


Total work = (4 × 12 + 7 × 1) × 8

 55 × 8 = 440

= 8 women can finish the work

= 
440

8 1
 = 55 days

61. (d)

Let no. of person = x

x × 90 = (x – 10) × 100

 10x = 1000

 x = 100

62. (c)

20
Time 100 25

80
  

63. (c)

efficiency of A and B  = 2 : 1

Total work = 2 × 8 × 12 = 192

Time taken by B =
192

16 days
12 1




64. (d)

A × 4 + B × 4 = A × 32

A × 28 = B × 4

 
A 1

eff
B 7



T.W = 32 × 1 = 32

32 7
B 32

7


 

65. (d)

(15m + 21w)56 = (12m + 24w) 64

105m + 147w = 96m +192w

9m = 45w

m 5

w 1


Total work = 96 × 56 = 5376

Time =
5376 3

47 days
114 19



66. (d)

First four day A and B both together work

5th day only B and 6th only A working

work done in 6 days = 4 × 2 + 1 + 1 =10

Hence, work done in 18 days = 10 × 3 = 30

Work finished on 18 august.

67. (c)

A × 15 = A × 4 + B × 16

A × 11 = B × 16

 
A 16

B 11


Total work = 16 × 15 = 240

Time taken by A and B = 
240 80

27 9


68. (b)

   1M 1W : 1W 1B

Time 1 2

2 1effi.

8 4

 
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Man's efficiency = 8 – 1 = 7

Time taken by 4 men = 
60

2.14
4 7




 days

69. (b)

Work done by B in 
2 50

16 days 6 100
3 3

  

Remaining work complete by A and B

= 
180 – 100 80

5 days
10 6 16

 


Hence, A working for 5 days

70. (d)

efficiency P = 2, Q = 3, R = 1

efficiency of X = 2 × 4 = 8

efficiency of Y = 
1

3 1.5
2

 

efficiency of Z = 1 × 2.5 = 2.5

Time taken by (X + Y + Z) = 
120

10
12

  days

71. (b)

 Let no. of Men = x

ATQ,

13x =  
16

2 16 – 1 (–9)
2

  x

3x = 8 × 15 × 9

x = 360

72. (b)

10w × 16 = 6m × 8

w 3

m 10


Total work = 30 × 16 = 480
work done by 12 men in 2 days = 12 × 2 × 10 =
240
Remaining work complete 6 men and 5 women

Time taken by them
240 16

days
75 5



73. (a)

(N 18)7.5 20 (N 12)6.5 30

48% 52%

   


(N + 18)5 = (N + 12)6

N = 90 – 72 = 18

74. (a)

A.T.Q

(20W + 15M)6 = 1W × 150

90M = 30W

M 1

W 3


Total work = 3 × 150 = 450

Time taken by man = 
450

1
= 450 days

75. (a)

M : W : B

6 : 4 :

6 4

36 : 24 : 16

9 : 6 : 4
Total work = 60 × 4 = 240
Time taken by man and woman

= 
240 240

16 days
9 6 15

 


76. (c)

Let number of men = x

11x = 
15

2
[2x + (15 – 1)(–16)]

22x = 30x – 3360

8x = 3360

x = 420
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